
Adding Integers (B)
Name: Date: Score:

Calculate each sum.

29 + (−98) =

−13 + 98 =

−16 + (−74) =

7 + (−82) =

80 + (−18) =

−70 + 83 =

−97 + (−96) =

82 + (−79) =

57 + 77 =

−96 + 93 =

74 + 81 =

−38 + (−84) =

99 + 76 =

81 + 92 =

89 + (−10) =

−76 + (−97) =

83 + 70 =

−60 + 92 =

−81 + (−92) =

97 + 71 =

93 + (−96) =

−89 + 72 =

−73 + (−77) =

98 + (−92) =

−75 + 90 =
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Adding Integers (B) Answers
Name: Date: Score:

Calculate each sum.

29 + (−98) = −69

−13 + 98 = 85

−16 + (−74) = −90

7 + (−82) = −75

80 + (−18) = 62

−70 + 83 = 13

−97 + (−96) = −193

82 + (−79) = 3

57 + 77 = 134

−96 + 93 = −3

74 + 81 = 155

−38 + (−84) = −122

99 + 76 = 175

81 + 92 = 173

89 + (−10) = 79

−76 + (−97) = −173

83 + 70 = 153

−60 + 92 = 32

−81 + (−92) = −173

97 + 71 = 168

93 + (−96) = −3

−89 + 72 = −17

−73 + (−77) = −150

98 + (−92) = 6

−75 + 90 = 15
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